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@® 4x+2x=3x+5x @ 5x-3=x(x-4)
® 2x+4-3(x-1)+4x @ 2x+3=2x(7-4)

® 3(x-3)=2(x-2)
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@ 3-x=-x+3
@ 3(x-1)=0

D 3x-x=x

3x+3

@ 3(x+1)

® 2x+3x=5x



3. o= oM A S x = -1 A2?

DO 2x=5x-1 @ x-1=2x-3
® 3x+4=1 @ 2(x-1)=x

® bx+4=6x-5
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Z7F 1000 DANA a% 2RI 714

@ (1000 -a) ¥ @ (1000 - 5a) ¥
® (1000 - 10a) ¥ @ (1000 - 100a) ¥

® -a ¥



D 2x=10
@ 12-Tx=Tx+12

® 4(2-3x) =-12x+8

@ 3(1-2x)=-x-5

@ 1+x-2x=x



oS 54 F x =2 ¢ o Fo] 5= ALY
@ 2x-10=6 @ 2x+10=14 @ 2x-18=x

@ 2x-3=6 ® 2x-3=9
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@ a-1=b+1°Ha-2=b

— 3

@ 2a-4=2b°1Ha=0b+2
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Q) a=b°]ﬁa+2:m
© a:boltﬂ2a—1:m

@© Oh2b, h2p-1 @ Ph2+b, Lh2b
® @h2b, Wh2b+1 @ Phb+2,Lh2b-1

@ Ehb+2, h2b+1
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H O] Aol7t aem, L] Aol bem, =017  hem ) AFHHE
HWOlE a, b, h & AFER A0 g ZHtEA YEhd 2SSt

rmA=E =2

cm ) 5 cm? ® (a+ b)hcm?
~——hcm? ® abhcm?



11. b+ H71E S422 &7 yet
H7]

=

A7

=]
A A4 3000 D] L5010 A % LA A
A7} <k Elo} 7428 ThAl 1000 € WS 12ia AL
YR ZEol 1719 % B thAl SREY fel 71Ho]
= 9te}.

b)
2 14+ —— ) = 4000
@(OO(H—a)X( + 100

b
2000 — 1——) = 2000
@ (2000 30a)><( 00
a b
— 1+—)=4
® (2000+ 100) ><< + 100) 000
@ (2000 + 40a) x (100 + b) = 2000
b
2 1 —):3000
® ( 000+30a)x( + 700
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@D 5x=10—>x=2

@ 2(x-1)=4->2x=6

® -3x=-5x-18 - 2x = -18
@ 2x-5=0—-2x=5

® dx=T74+3x->x=7
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3
x=x+3 —>§x=3 - x=2

)
—9— 1 - =
X x4+ 5

)
2

DO a=bolHa+c=b+c

@ a=bolHa-c
® a=>b°"ac

b-c

be (

=b-c

® a=bolHa+c



15. 3a+b+7=-a-7h-13 L ], a+2b 9] Zr?

® -1 @ -2 ® -3 @ —4 ® -5



